Working formula:
v’ Ifwire 1 (X;) is in left gap and wire 2 (X) is in right gap,then

X, 1
X, 100-1

[l = balanced length (in cm)measored from zero end (point A)]
v' If wire 1 (X;) is in right gap and wire 2 (X,) is in left gap,then
X; 100-1
X, 1

[l = balanced length (in cm)measored from zero end (point A)]

PROCEDURE:
To compare resistance of two wires:

1. Connect the cell, two wires (wire 1 of resistance X in left gap) and (wire 2 of resistance X, in right
gap), galvanometer, jockey as shown in figure (i).
Check the galvanometer deflection by placing the jockey at two ends of the bridge wire. If the
deflection is opposite, the circuit connection is ok otherwise re-connect the circuit.
3. Slide the jockey from left to right over the bridge wire until the galvanometer shows null deflection.
Note the balanced length (1), from the left end (zero end).
Repeat the step 3 three times.
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5. Calculate the ratio of the resistance of two wires resistance (X—l) by using appropriate formula.
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6. Now, exchange the position of the wires and again repeat the steps 2, 3, 4, and 5.

Wire 1 Wire 2 Wire 2 Wire 1
xl XZ xz X1
r/‘MN\_I B I_/\N‘M_I I_/‘N‘M_I B l_vaV\_I
& s - & I - Le . ] [*
; J Jockey ; J Jockey C
“ 151 b1, — . 4 51 e 1, —
| Meter Scale I Meter Scale
L L £}
L \*) K K2
E Switch E E Switch E
Working formula: ‘Working formula:
X1X12=XZX11 X2X12=X1><11
OBSERVATIONS:
Least count of meter scale = ... ... ... ...
Length of given wires, L; = ... ... ... m
L2 — it tee e m

Ratio of resistance of two wires:
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